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Diff. in Score....Imps
Tie (push)..............0
20-40.....................1
50-80.....................2
90-120...................3
130-160.................4
170-210.................5
220--260................6
270-300.................7
310-360.................8
370-420.................9
430-490...............10
500-590...............11
600-740...............12
750-890...............13
900-1090.............14
1100-1290...........15
1300-1490...........16
1500-1740...........17
1750-1990...........18
2000-2240...........19
2250-2490...........20
2500-2990...........21
3000-3490...........22
3500-3990...........23
4000 +.................24

   Victory Points
Imps..............VPs
0..................10-10
1-2................11-9
3-4................12-8
5-7................13-7
8-10..............14-6
11-13............15-5
14-16............16-4
17-19............17-3
20-23............18-2
24-27............19-1
28 +...............20-0

Convert score to Imps 
to even out lucky and 
unlucky scores; then 
convert Imps to 
Victory Points to even 
out the luck further.
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Match Three:                                                             Teams 1&4   v.   2&3 
 Table 1: 1NS v. 3EW   -   Table 2: 2NS v. 4EW
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Match Two:                                                             Teams 1&3   v.   4&2 
 Table 1: 1NS v. 2EW   -  Table 2: 4NS v. 3EW

Match One:                                                             Teams 1&2   v.   3&4 
 Table 1: 1NS v. 4EW  -  Table 2: 3NS v. 2EW


